Equation of the line Joining (-4,6) and (2, -6) would be y-6= (-6-6)/2+4   (x+4)
                                                                                    That is y-6= -2(x+4)

Equation of line joining (-4,6) and (8,10) would be  y-6 = (10-6)/(8+4)  (x+4)

                                                                                That is y-6=1/3  (x+4)

Equation of line joining (2,-6) and (8,10) would be y+6 = (10+6)/(8-2) (x-2)

                                                                                 That is y+6= 8/3  (x-2)

                                                                        ****

